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1. ( Performs arithmetic operations i.e. calculations on data
    ( Performs logical operations i.e. compares date values

    ( Coordination point/ interface between the main memory and the control unit.

2.  ( Cost

     ( Portability
    ( Compatibility
    ( User friendliness
3. ( The IRG leads to wastage of vital storage space

    (  Slower data retrieval since data is linearly stored in the tape.

4. ( Data security is the protection of data and information against computer criminals while

    ( Data privacy is the protection of private and confidential data  and information against misuse or                           unauthorized access. 

5(a)( High initial cost

      ( Moral and cultural effects e.g. cultural degradation and moral decay
      ( Spread of terrorism and drug trafficking through network. .
      ( Over reliance to the network, may ground to the entire operations in an organization should the     network fail. 

      ( Security issues and threats

  (b) ( Implement network security features 

        ( Support network services like network card drivers and protocols

       ( Avails network resources to users

· Supports interprocess communication 

· Enables nodes on network to communicate with each other effectively. 

· Responds to requests from application programs running on the network.

6.    ( Hacking – The forceful access to information held in computes by breaking access control codes like passwords

· Cracking
· tapping

· Piracy  - illegal reproduction of copyright work without permission from the owners

· Trespass – The authorized  physical access to ICT assets or accessing information digitally without permission

· Sabotage – The illegal destruction of data and information with the aim of crippling service delivery or causing great loss to organization. 

7.(a) Buffers are special memories  (2mks)

· Buffers are special memories that are located in the input/output devices and can hold more than one piece of data at a time. 

· Registers are located inside the CPU and hold one piece of data at a time. 

  (b) (   Accumulator- Temporarily holds the results of the last processing step of the ALU

· Storage register – Temporarily holds a piece of data that is on its way to and from the CPU and the main memory. 

· Address register – Temporarily holds the next piece of data waiting to be processed. 
· Instruction register – Temporarily holds an instruction just before it is interpreted into a form that the CPU can understand. 

8.   (   Enables one to add graphics within a document.

· Enables one to save and print a document

· Has superior page formatting features such as page numbering, headers and footers

· Has text formatting features like drop cap, bold, italic, and underline among others. 

· Has superior paragraph formatting features such as alignment, indentation,  line spacing etc

9.(a)(   Copying text – creating a duplicate of the text in a new location while the original remains

· Moving text – Changing the position or location of the text

   (b) (   (i) Highlight the document when open/right click on the document

 
(ii) Click the cut icon on the standard tool bar/ on the sidekick that appears.


(iii) Get to my computer, right click it and choose the paste option on the sidekick menu that appears.


(iv)The document will be moved to its new location

10.(a) ( A range is a block of selected or named cells in the worksheet while a cell is an intersection between arrow and a column. 

     (b) Convert the formula = sum (f11:H20) into its absolute form. 




        (1mk)

· = sum (& F & 11: &H & 20)
11.(a) A search engine is a web based information retrieval tool that helps users when sourcing for information on the internet e.g Google, Yahoo etc (2mks)

     (b) Below is an email address; (1 1/2mks)

jacobolo@yahoo.com



jacobolo – username of the email recipient


@ - a symbol for ‘at’


Gmail.com- name for the host computer on which the email a/c resides

12.(a) ( the process of simplifying database entities into a manner as to make sure the field do not store repeating values hence reducing data redundancy.

    ( b) ( A filter return records that have all the fields in the database table, while a query may retrieve only some fields of the record.

· A filter allows one to view records based on a certain criteria during a session without making it a permanent object as in the case of a query. 
13.(a) Rulers 

        ( Helps the designer measure whatever is being designed. 

     (b) Document set up

· Helps to set up a publication, layout the page size, margins and orientation to avoid the inconvenience of re-adjusting after the complex design has been completed
    (c)  ( Master pages- Are those pages on which the blue print of the publication can be created. All other pages adopt the layouts and formats as     laid out on the master page of the publication.

14.(a) Iteration

· The same block of codes is executed again and again until a certain condition is fulfilled.
     (b)   Selection

· Execution of statements depends on a condition  that returns a true or false and the condition must be a Boolean expression

     (c) Sequence

· Here the computer reads instruction from a program file starting from the first line and proceeding downwards one by one to the end. 

15.(a)   (2mks)
· Soft systems – human activity systems
· Hard systems- systems whose goals and objectives are clearly defined& hence  the outcome from the systems processes are predictable and can be accurately modeled 
    (b) ( Difficult to precisely define exact measures of the performance for them.

· Goals and objectives usually conflict & may not be captured clearly at any one time because they are based on human factors like attitude& preferences.

    Have got final boundaries.

16. Outline three differences between interpreters and compilers (3mks) f3 –c.p.p

	Interpreters
	Compilers

	( Translates the program each time it is run hence slower than compiling
	Compiled program can be saved on a storage media and run on as required hence execution is faster than interpreted program

	( Interpreted object code takes less memory compared to compiled program
	Compiled programs require more memory as the object files are larger.

	( Translate source program one line at  a time 
	Translate the entire source code at once before execution.


     (Any 3 differences @ 1 x 3 = 3mks)
(b) Before is a sample program written in a low level language:

SUB BL,
75

ADD BL, 
22

MOV
BL,
30

(i) Identify the language used in (b) above. (1mk)

Assembly language

(ii) Define the term mnemonic as applied in programming.

Shortened two or three letter words to write program (1mk)

(iii) Briefly explain what each line of code in 16(b) above means.

( SUB BL, 75 – Subtract 75 from the value held in register BL
( ADD BL, 22 – Add 22 to the value held in register BL

( MOV BL, 30 –move the value 30 into the processor register with the name BL 
(c) ( Syntax errors – errors that result from improper use of language rules e.g. grammatical mistakes,       punctuation errors etc.

      ( Logical errors – errors that are not detected by the translator allowing the program to run but give erroneous output or at times the program to halt during extension

 (d) The following grading system was used to rank students in a joint evaluation test and based on the average as shown;

80
-
100


70
-
79


60
-
69


50
-
59


40
-
49

Using the case statement construct represent the above information with the aid of both a pseudocode and flowchart 


Pseudocode.




(5mks)
Case average of 

80----100: Grade ‘A’ 

70-----79: Grade ‘B’ 

60-----69: Grade ‘C’ 

50-----59: Grade ‘D’ 

40-----49 : Grade ‘E’ 
ELSE 

Grade ‘F’
ENDCASE

Flowchart extract




17. (a) (A work book is a collection of worksheets saved together under one name in a computer memory whereas, a work sheet on the other hand is a single electronic ledger in a workbook. (2mks)
          
(ii) 

( When saving to anew location

( When saving with   new name

( When saving with anew file type

   (b) ( Statistical function as average () and MAX ()


( Logical functions such as if () and OR ()

( Mathematical functions e.g. SUM() and product ()


( Date and time function e.g. today () and HOUR ()

   (c) (i) 
	
	A
	B
	C
	D

	1
	Mon
	Income
	Expenditure
	Profit

	2
	Tue
	2000
	1500
	500

	3
	Wed
	3000
	500
	2500

	4
	Thur
	7000
	0
	1000

	5
	Fri
	3500
	0
	3500

	6
	Sat
	6000
	0
	6000



(ii) (a)The maximum profit for the week



= MAX (D2:D6)


      (b) The minimum profit for the week


= MIN (D2:D6)


    (C) The total profit for the week



= SUM (D2:D6)


   (d) The highest income during the week.= MAX (B2:B6)
   (d) = If (B3> = 80 “A”, If (B3 > =60 “B”, If (B3>=40, “C”, “F”)))
18.(a)(i) ( A situation where by an employee usually works at home using a remote computer connected to the workplace network. (1mk)

         (ii)  (  Kills teamwork as each employee works in isolation


    ( It encourages laziness since it is difficult to effectively monitor and supervise teleworkers.

     (b) Inference engine – The software that controls/guides the search for knowledge in the knowledge  base and there by generates conclusions.


    ( Knowledge base- The expert system’s database of knowledge about a particular subject. 


    ( User interface – The VDU/screen that enables the user to interact with the system.
    (c) (i)( computer vision syndrome (1mk)
         (ii) ( eye strain


(1mk)


   ( Headache

 
   ( Fatigue

    (d) (i) Differentiate between job replacement and job displacement. (2mks)


   ( In job replacement, computer illiterate people are replaced with those who have the desired computer skills while in job displacement an employee is moved to another place or department where computer skills are not required.

   (e)(i) ( The process of using computers to automate tasks in the manufacturing industries with an aim of increasing production

       (ii) ( It may lead to unemployment in some areas that are labour intensive
             ( High initial cost of setting up an automated system is prohibitive.

19. (a) Advantages(2mks)


 ( Use short cable length hence cheaper


 ( Simple to install

       
Disadvantages (2mks)

 ( One device or media may affect the other entire network 


 ( Since adding or removing a device can disrupt the entire network, modification may be difficult.
   
 ( Trouble shooting can be difficult. 

     (b) (i) webmaster (2mks)


 ( Developing and testing websites


 ( Maintaining, updating and modifying information on the website to meet new demands  by the user.


 ( Monitoring access for use of internet connection by enforcing security measures.

          (ii) Network administrator (2mks)


 ( Sets up a computer network


 ( Maintain and enforce security measures on the network 


 ( monitor use of network resources 


 ( maintain and trouble shoot network related problems 

         (iii) Computer scientists (2mks)

 
 ( Developing specialized languages


 ( designing programming tools


 ( Designing computer games


 ( Programming language designer

         (iv) System administrator (2mks)


 ( Co-ordinates system updates 


 ( Provides assistance in testing new equipments and systems


 ( C-ordinate support work and training in system use and access


 ( Establish and control system access and security 


 System monitoring to optimize performance 


 ( perform backup and intake recovery action incase of system failures

 (iv)  Software engineer

       ( Developing system and application software 


 ( Developing user and technical documentaries for the new software


 ( Maintaining and updating the software to meet day-to day requirements while overcoming challenges.

(Any two correct stated roles @ 2 x 5 = 10mks)

     (c) ( Process by which the cache cernfies and registers private _________ so that they can recognized and accepted world wide.

20.(a)  It is easier to construct electrical cuts based on binary (ON & OFF logic) upon which all forms of dates can be expressed.

          ( Digital devices are more reliable


( Digital devices are small in size and use less energy compared to their analog counterparts.


 (Any 2 correct stated reasons @ 1 x 2=2mks)

     (b) (i) Binary coded decimal – is a 4-bit code used in the representation of numeric data only. 

(ii) Extended Binary Coded Decimal Code (EBCDIC) An 8-bit character coding scheme use         primarily on 1BM computers. Represents a maximum of 256 character i.e. 2

        (Any 3 well explained points @ 1 x 3 = 3mks)

   (c) Convert the following binary numbers to their denary equivalents;

      (i) 111010.01112 
(2mks)
	p. (
	25
	24
	23
	22
	21
	20
	2-1
	2-2
	2-3
	2-4

	B.D 
	1
	1
	1
	0
	1
	0
	0
	1
	1
	1


           N10 = (25x1)+ (24x1)+ (23x1)+ (22x0)+ (21x1)+ (20x0)+(2-1x0)+(2-3x1)+(2-4x1)

= 32 + 16 + 8+ 0 + 2 + 0 + 0.25 + 0.125 + 0.0625


= 58 + 0.4375 = 58.437510 
     (ii) 110111011.112 given that the left most digit is a sign bit. (2mks)

	p. (
	27
	26
	25
	24
	23
	22
	21
	20
	2-1
	2-2

	B.D 
	1
	0
	1
	1
	1
	0
	1
	1
	1
	1


        N10 = (27x1)(26x0)(25x1)(24x1)(23x1)(22x1)(21x1)(20x1)(2-1x1)(2-2x1) = 187.7510  (  -187.7510
  (d) (i)11101 + 10110 – 1101 (1mk)


( 11101
             110011


   10110 
-    1101

 110011               100110

       (ii) 11001 – 1010   (1mk)

              11001

 (           -1010
                1111

Step 1

     (e)  3510 into binary


              2      35       R                 = 1000112 = 001000112 in 8-bit binary notation
              2       17      1

              2        8       1

              2        4       0

              2        2       0

              2        1       0


                        0       1

1710 in binary
            2       17         R

            2        8          1
            2         4         0
= 10001
00010001 in 8-bit binary notation
            2         2          0
            2         1          0

                        0         1
Step two 
One’s complement of 000100012 = 111011102
Two’s complement = 11101110

                              
           +            1
                                   

  11011112   (equivalent to -1710)
Step 3

Add two’s compliment of 1710 to the binary equivalent of 3510,





001000112
                                                11101111
                                            (1) 00010010       ( 000100102 i.e. 1810

          (Overflow digit is ignored) 
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